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Q@ MHIMAIEBEERERUHMBERB(RIRE R [XTR25FEREE., HETHERBERRR)

(a) EEERE (b) HuIZEIEH (FEHIER)
weEL RIZEH HWREIS (%) i E R RIRE HREIS (%)
1.2k 263 15.3 1.2k 100 58
1.1k~ 25K 275 16.0 1.1 E~1. 25K 227 132
0. 9Bl E~1. 1k 927 540 0. 9Bl E~1. 1k 1143 66.6
0. 8LlE~0. 9kiE 205 1.9 0. 8Ll E~0. 9k 232 135
0. 8K 47 2.7 0. 8K 15 09
it 1717 100.0 it 1717 100.0
1A S-YERE OB HETH 1A E 1Y EFEE DL TETAT i E R OB TR Hutsh 2 SRR DR L TTRT
(M) (M)
JBAL RIEER 1A -YERE JBAL RERESR 1AS-YERE JBAL RBRER i R JEAL RERESR i R
1 RIS (RF) 554,217 1 MNERF &R 168,415 1 FISH (RF) 1.83 1 EXREH () 057
2 MBI OeiEE 525410 2 |EERERRA  GhiB) 175379 2 MLBIF  OeiEE 154 2 MERE ER 0.70
Hi 3 K (REXK) 517,293 3 |Ek (RE) 179,122 H 3 HZERT E®) 145 3 |MrEET (iE) 0.70
£EF1318,727M 4 Jeist (€321 506,134 4 EXREH bl 179,302 BE 3208 4 Kz (KEA) 1.44 4 SEH (RE) 0.71
= 3315 5 k4 (REA) 495472 5 =T Ghis) 179,503 5 BmESRH CGtED 1.4 5 Pk (€3] 0.72
6 KEHT =40 494861 6 |HESH &ER 185,976 6 EALEr (REX) 1.41 6 |FidLE &EB) 0.72
7 FREH [€[4:::3C0) 481,208 7 R (RE) 186,016 7 RERAE (BRE) 1.40 7 |EEER  ER 0.73
8 kil (tigd 479,183 8 EEBH (bR 215,659 8 =EER (=31 1.40 8 INEHE (RE) 0.74
9 =%h [€[#:::3:)) 478428 9 |FRE3ET [€[7::3 ) 222524 9 EAlIES) =40 1.39 9 |EERARRA  ChiB) 0.75
10 |GEERARHT (BB 477,640 10 |&iE™H (G o)) 224,005 10 |/RERAT (EB) 1.37 10 | KEEH (RE) 0.75
(FD) (F)
JBAL RIEER 1A Y ERE JBAL RBRESR 1ANSYERE JBAL REER iR JEAL RERESR iR
1 RIS (RF) 313,491 1 HrER &= 52,544 1 B (RF) 266 1 HrER &R 047
2 | K8 (5 276518 2 |m%s (RE) 54,124 2 |FERWA L3y 1.89 2 |2EH (RE) 0.50
AR 3 FHEWA (L3 264,379 3 |2EH (RE) 60,955 AR 3 FRHA (BR&) 1.85 3 |dERER  Chid) 050
2EF1 122,780 4 FEH (tigd 260,016 4 |dEREH PR 61,146 RE 5618 4 KL ET (€301 1.85 4 |hER [(TE-0] 056
HE 601 5 Ealmh (tigd 252,377 5 |HERR &R 66,040 5 J\NEHET (tigd 1.84 5 |FdwH &EBR) 057
6 DRHER (BB 252,290 6 |Far (RE) 70,450 6 DRHER (BB 1.82 6 |s=mEr (B 059
7 FRA (BRS) 250,269 7 |=m@mEr (B4 72,998 7 SREET  Chi) 1.81 7 |k (RE) 0.60
8 =% (tigd 245,637 8 AR (B0 73,074 8 BmEMH CGtED 1.81 8 A (RE) 062
9 REFEHN &R 241,180 9 |hEH (ITE-] 73273 9 ==H (RF) 1.79 9 |REH (BE) 062
10 |BZ# (5 i) 239,722 10 |/NERF  (ER) 76,470 10 |BZ# (=) 1.78 10 | K% (= %0) 0.62
(FD) (F)
JBAL RIEER 1A Y ERE JBAL RBRESR 1ANSYERE JBAL REER iR JEAL RERESR iR
1 ALGF  dtEE 282,961 1 INERF 'R 76,262 1 MLBF  deiEE 1.54 1 FRAH (i) 050
2 KEgh (KEA) 265,077 2 |BEReR 76,281 2 HAZERT (€100 1.54 2 |EXREH G 055
ABst + 3% 3 EAlIES) =40 258,961 3 |EERERRA  GhiB) 76,460 ARzsh+ER# 3 = Er E®) 142 3 | 5iRET (BR®) 057
£EFH 172.267H 4 |HzEar =S 251,094 4 |PrEHET (4B 80,950 ®E 3 4 |IREET =B 1.39 4 |NERF @R 059
xS 5 Kig LSBT (R8) 251,073 5 |MAEN (PR 81,736 5 FHEFET (&) 1.38 5 =ET (€3] 0.59
6 BERFRR (BB 247,804 6 FEERH (i) 90,929 6 KHEET (1E8) 1.38 6 FEERH  (hER) 0.60
7 ELEr (REXK) 245,115 7 | 5iRET (BRS) 91,988 7 FSH (RR) 1.37 7 |EERARRA  GhiE) 061
8 REFIET (B 244,187 8 EEBH (bR 93,242 8 Kig (KEA) 1.36 8 EXREH () 0.62
9 ESun) wm 238,491 9 JIE#F (RE) 93,435 9 SRITHET ES) 1.34 9 ZRMAM (P 065
10 | Edid  (ER) 237,656 10 |ZREAH (P 101,144 10 |de)us (= 40) 1.32 10 |EREH (9 067
(FD) (FD)
JBAL RIZES 1A Y ERE JEfL RIRES TASVERE JEfL RIRE 4 HREEE JEfL RIRES g E IR
1 IR ET (58 38,900 1 Hreft  E®) 9610 1 = [E BT (ES) 157 1 HrE  @E®R) 045
2 RIEHT (R L) 36,402 2 | 5iRET (BERB) 10,389 2 KAREHT (€120 1.56 2 | EsEE &R 046
g e 3 = FEET E®) 34,194 3 AKBET (PR 10,758 g E) 3 IRAT (E8) 153 3 | 5iRET (BRS) 046
2EF1 23,681H 4 WEERT E®) 34,161 4 |REHEN &R 11,867 1= 3518 4 SRITHET E®) 1.51 4 |EREN (P 048
&E 408 5  |EEIRET [€17:309) 34,054 5 |EaER G 12,026 5 | =B 150 5 |AKBET  Ghid) 050
6 KHEET (€120 33,644 6 |EFHH (FH 12,125 6 AT (tigd 1.46 6 |HEFHH EH) 052
7 2 HEAT [eN) 33,538 7 |AMER  &EH 12,401 7 AT (R L) 143 7 |REHEN  (EFH 052
8 SRITHET E®) 33,358 8 |FBERER  (hid) 12,903 8 AR (RE) 142 8 | LirET (RE) 055
9 ot (58 33,244 9 EXREH bl 13,138 9 /7 BT (KRR 1.40 9 EXREH () 057
10 |HRHET (KBR) 33,052 10 |FFEERA (b)) 13,250 10 |EiLst (ItiEE) 1.32 10 JREHR (RFF) 057




